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OFMY Mgz (Mg )X 166,250
= 116,375
== 16,625
= 33,250
OWXl MZHOlaAA o ghet
2,000 *50,0005 *60% 60,000
= 30,000
= 10,000
= 20,000
RS LAl MRE P2 X (0 110,000 110,000 0
= 55,000
& 16,500
= 38,500
301 et A= 110,000 110,000 0
= 55,000
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O
0
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>
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AHEENS 200,000 200,000 0
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20,000
20,000
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MIIEtEd = 200,000 200,000 0
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20,000
20,000

U RN

IIEESE 2 2YAY| 236,453 223,280 13,173

71,050
165,403

M
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OFHMA, Al &A=24F K& 15,000
4,500
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OJEdgd 22 29yl 9,000
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ONETHULAE NA(HS Y LLA

JIFEAY) 26,400
7,920
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10,500

Ol
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OXRA HAIEZE MM K& 612
204
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M
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M
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N L1
a4 B L
el JbE Y (e
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 69,840 0 69,840
OCCTV & &< olzet XAAL (HE SO
5,000, 000& =109 2= *60% 30,000
= 15,000
< 4,500
s 10,500
OCCTV & &< olzZet XAAS (HE =)
16,600, 000& *4JH 2= x60% 39,840
= 19,920
< 5,976
s 13,944
SMEL HelXd 268,260 254,100 14,160
J| 47,880
< 16,724
s 203,656
SHER Ml NS 162,500 162,500 0
402 QI2H X201 M 162,500 162,500 0
01 2I2F 2 A B (RERTH ) 162,500 162,500 0
ON}=EaxHdel ==2X2E2W X
130,000& *2,500& *50% 162,500
II=2s Eddis XA 35,760 16,000 19,760
J| 17,880
< 5,364
[ia 12,516
402 RI2EXt20| M 35,760 16,000 19,760
J| 17,880
< 5,364
s 12,516
02 QI 2 A EZ (OIS ) 35,760 16,000 19,760
OJN=EEa EHHIE XA 35,760
J| 17,880
< 5,364
[ia 12,516
oHH| A ZHl X 60,000 0 60,000
J| 30,000
< 9,000
e 21,000
307 glz2tol & 60,000 0 60,000
J| 30,000
= 9,000
e 21,000
02 QIZtE A AHEE 60,000 0 60,000
Oyl & Zdl K& A 60,000
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< 1,500
i 3,500
11IIEtEA S 5,000 0 5,000
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—&+S0HE S0AM MEE 2gordae]
Ch&l 612,080 x12& 7,345
— S0tE g2 e da
817& x2004 2 &~ +5F 1,634
— S0t MMEE 24 e A=Y
817& 2004 *5& 817
—LPGItASH 45,000% *2& *20H 2 x4 3| 720
— W=7 ¥ SSH=EI HzH
1,4863 %604 «12& 1,070
—1E E¥Y Y EdH ¢zl
1,273 %2004 *12& 3,056
— 18 EY BEg2 700
— 18 Eg 2 EgH 22/4| 1,000
— SOAIE 22l H=EM 2 45N
10,000& 60 600
—S0AE 22 372 2 22 1,000
— S0AlE &I #H *2l
2,000,000& *37H 2~ 6,000
— S0AlE A8 &H %2
2,000,000 *3H 2 6,000
— S0tAId 2H BIZ 2| 1,000
— S0AIE AEE 2B 6,000
03 #HAL2Z bl 8,000 12,000 24,000
OX=2=0tU 3 M= 8,000
— S0tHe % 3,000
—J|EH, B2 2IES HE S 5,000
202 4 HI 6,200 4,900 1,300
01 = LH 4 B 6,200 4,900 1,300
OLAEE JR2FX 04l 6,200
—S0tE Z2egRFA 6,200
206 M = Hl 193,600 197,680 4,080
01 M= 4l 193,600 197,680 A4,080
O0tE HHEAMZ 21,0003 *200 L 123 50,400
ontg A=x 750,000& x7E*128 63,000
oot BXH(EH) 110,000 355« 12& 46,200
ontg s 400,000& x5E+12& 24,000
Oftg 42 200,000& 355 7,000
Os0tE A3 (ga, &, oEEN) 3,000
207 Ao bl 45,000 0 45,000
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ESOHNMEE HEZZX SHAMY 1,200,000 1,000,000 200,000
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= 200,000
201 Bt 100,000 50,000 50,000
& 100,000
01 AFR 22l bl 100,000 50,000 50,000
4 SAY =8 (A28 JIEHHAN) 100,000
& 100,000
307 QI2t0| & 250,000 200,000 50,000
= 250,000
02 QI2tAAMAIE E =X 150,000 150,000 0
OLetsS0ME 80,000
= 80,000
Oelol&0teE=2g 20,000
& 20,000
Oshtus ¢ &5 XNE 50,000
= 50,000
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ZS0YNMHMEE HEZZ2X SAAY (XA 80,000 0 80,000
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307 2iz2to| A 100,000 100,000 0
J| 30,000
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04 QIZ2tSHALALS B X 100,000 100,000 0
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StM=0HAME 35,840 64,830 A 28,990
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03 Al H| 5,280 0 5,280
OO0l =0lna 2 (2HIz=It2)
320,000 x55H *30% 5,280
2SN g4 25,000 50,000 A 25,000
& 7,500
= 17,500
REZES ME AMEAS 25,000 50,000 A 25,000
& 7,500
= 17,500
402 SI2FXHE0| M 25,000 50,000 A 25,000
= 7,500
= 17,500
02 CIZEXIEAIS EX (0| XM THL) 25,000 50,000 A 25,000
Ofs 2= ASs AlYA 25,000
o 7,500
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L0 AR DX KIS AFY 15,000 12,000 3,000
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o 10,500
402 SI2F 20| & 15,000 12,000 3,000
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